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F -

Note : Before answering the questions, read carefully the inslrua;giqﬂiji';:;ii-pu o the OMR sheet,

BHHOD waEew ErainbD Hvoth OMR sorm SF&ns® aknds mﬂﬁwwﬁgﬂ SESeh.
SECTION - I : MATHEM ATICS

1.  Ifaladder 20 mlongisplaced against a vertical wall 6Fheight 10 m, then the distance between the

foot of the ladder and the wall, the inclination of the Jadder with horizontal are respectively
20 m & o DG Féd 10 m 205 er8Synds Fd edid gridn IS et ool %

debin fHbdin D &ﬂaﬁmaﬁﬁma‘ﬁmnﬁ*mﬁp:ﬁ:m
@ 103 m,30° @ 5V3m,30°, 5 G) F0v3m, 30° 4 203m,45°

sin I:'SID—-E)_l_ sin (180+8)
cos 8 sin{-8)

(1 -l @ 1! 3 -2 | 2

3. Ifacos@+bsind= p;q_sﬂ;_ﬂﬁf'ﬁcﬁsﬂ = g then
acos@+bsinf=p; asi'ﬁ'ﬁ'~_bi:ﬂ5$ =g ocud

(1) a@-Y=pdg i~ 2 a+bh=p-g
© «+b¥- a’*-gr' / @ a-b=p+yq
135in &+ Ssec@
4. [fﬁ'““m"%qmm{j cos 6= E’thc“ S5tan@+12cosecd
/A 5 13sin@+ 5sec@
E._. =
e, Angeinen Som s C0SO=T sovs oo o= dens
AN\ 5 12 : 7 |
4 — 2 —— s ) “ae
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5in480°co8690° + cos780°sin1050° =

1 1 @ 2 @ 3 @ 057
— 2 o
Thevaiucnfl . 12
H.'Il 15 F il
1—tan®15° g s ~
1+tan®15° Nl N2
01 s @LLY e

Cummulative frequencies are used to measure the p
$0D8 BrSipREinD ai@rRoD ol Jo PSS Folf

(1) mean {2} n:mde
BSrfen .p*ﬁ'nﬂah:
@) median 54) | None

SotsgHesson t-ﬁ. =5

._. oy,

Median of the scores 47, 52, 57, 52 57{,'?—2, '?? 78 is
47, 52, 57, 62, 67, 72, 77, Tﬂuaﬁm

(1) 62 @ 675y ) @) 645 @) 69.5

Find the missing valuf:crfpﬁpm;he following table when AM is 3.55 :
ol Semodiin A ok mﬁg&m 3.55 wond p Do =

x, | 1 2 3\ ‘--“._'4| 5 6
AR ERE
@ v A N@ 9 3) 16 @ 8
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11.

12.

13,
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The mode of the frequency distribution given below s
& |Bod Honod SGE QY oo =

Classinterval | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99
SEN0 wodlin

Frequency 2 3 20 31 17 10 4
B gt
(Iy 68 (2) 66.4 @ 63.9 @) 634/
If no value of an mgmuped data is repeated, then which of the following lsnntdeﬁmd?
o din =3 uﬁ-ﬁ%ﬁ Boodsn Q) ===-==== s W%- S\
(1) mean @ mote

At ﬂ":"-"m N
(3) median (@) None( ) D,

ST AT G E ) o8 w&’

if A=|" %|and B=[? 7]andd +B=0thens=|Of
3 4 F X .I.-' '_M. -

3 4 ros AN <L

If A =[l i ; ] and Xis null mggﬁ_;#uh'mat AX is defined, then which of the following can X’
be? | “H . ‘*I-, J

k456

ey,
M o )0, ©) o. @ 0,

Ina Eﬂmpmer!_-tﬁéﬂqﬁtrﬁl unitisin

A =(l " 3) &r|BY as;gcﬁix:snrg &MBE son AX H88 Wghodndd X SoSrmE.

14.
Sogrgeg® AL, Deridnoth DErrs.
(1)  inplitonit (2)  outputunit
RG-St ©HI5H Do
((3)) cetral processing unit (4)  memoryunit
T BaE Ogvd Derifin HE SEH Dero
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19.
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Which of the following is an output device?
& Bob DS epaSHeS Dgisso

(1) Keyboard @ Printer R
(3) Hardware (4) Software N
) 36 Qﬁ 35 ' !,ﬂ :_'_«..H:} r
OF the following, which is De Morgan's Law? N\
& (200 &S & IngS avgahin? " h 1®
! i P -.1‘5-..? r
(1y pvag=gvp @ pv(qn--cls{pv‘q)n(pw)
@ ~(pvq)=~pnr~q 4 P‘-{F‘“L{'\

If 4= {multiples of 2}, B= {multiples of 3}, ﬂ:lannB-
A = {2 @t Hderen}, B = {3 cg) Hderen) wani 4("}:8*—

(1) setofmultiplesof 5 (2~ &ﬁ";ﬂf multiples of 9
5 @) Kodare S8 S 9 % odare S8
(3) setofmultiples of4 f set of multiples of 6
4 Bl odere S8 LT 6 awg fdeo S0
oy NN 7
(n an identity function ANENY Y
Sy (SbukEns® oy
(1) domain contains only one e:l_anén!.‘ (2) range has only one element
(HBd5n e ool ﬁ&haqc!:;&u st a8 drolio DN 4ol
domain and range haye sﬂme ¢lements (4) None
GHEd, oygen o8 mﬁm B0A ot 2D %

i
I -' % 1/
' .-" |

I fR-{1}) >R bﬁ@ﬁmd by f(-r)-u-— then f(:r)+f( )‘

*I, L J 1
FeRt) A T= 2 o, 107 1[4 s o

) 20\ @ 0 3) -2 “4) «x
_-"fl;' o
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21,

22.

23.

24.

25,
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Iff(x)-lﬂﬁ[i 1] then f[ h:)“

; 1+x i\ﬂ&g\
Foymiog 22, g #[22 @2y
S8 Tox oS T T " | ﬁ

X
@ 70 @ ¥y G) &) ﬂif‘?fi}

@ X+x-6 () P¥-x-6 3) f+x+ﬁ\§\/(4} X —x+6

If o and P are the roots of ax® + bx + ¢ =0, memw+& \/’
cand e a* +bx+¢=0, Mwiuﬂi+ﬁ ‘
b be ah N ab
O = o= ® Sy @ -=
& |
4
n\ (n n K@
GH =) ST
ANYA
n) (n n {;\ N
3 v DD 9 = IQ‘\,‘IJH
h\uﬁ "
a 7 @ 3 f}u; @) 10 @ 45

{

If one ruutnfp_r:+q.r+ 4{]\%&“& hmesth:utlltr.mcn3q‘=

ﬂr+qx+r=ﬂm¢%§/ Bols SarolnSn S Bhowd g7 =
| 18pr

@) l4pr 16pr
ﬂnenfthe:tgé&\u@+8f—x—r3is
x* + 8x }mmmm-
(1) o @ x-2 @) «x+8 4 x-8
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26. Ifalinedividesa plane into two half planes H, and H,, then H, "H, =
0¥ Bo o8 Sodnd H,, H,, o Botd wf§ Soreore 25888, H NH, =

(1) M(universal set) ) H,nH, ,;_.:;.
M (D508 ) S
¢ (empty set) @4) H+H, >
& (ErigdnB)

27. Th:pmrufp-umtswhmhImnueithus:denfthelmeix+4y‘2013
5x + 4y = 20 dpts apHo dod DotbHen.
O GDED @ GEAeH @ « tm ﬂ} (1,1,3,3)

28. If2x+y210,x+2y2 10, ﬂlmﬂwmmmumvﬂuﬁoftheobjmwﬁm:umf-x+ym
2x+y210,x+2y 2 lﬂmﬁf-x+yﬁﬂuﬁ|§$¢uﬁmdhqmgnmﬂ

g
ﬁ—-- —_— —
© ¢3 @ ci) »2 @ 3
29. The limiting position of a secant of a r:un!e:ﬁ
H8 Isb Sw ©SH = NN
(1) redius )Y @ diameter
g Jo)
(3)  point Smgex
DoH AN/ SygBe
2x—~1 Hh
30. If "5 <5,then "
|2.1:-I| y v,
S5/ woos
5 a';'-;:‘- T o
(1) A2<x313 @ ~12<x<13
(3) AN-138x<12 (4 135xs512

".‘_:- k

E
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14243+ Ln bl O

A, 3n* +5
i 1 s @ I
© 3 @ 3 ©) ¢
F 1 1
32. Ifa“wb’=randb“-ﬂc,then;+;=
=
a = p = Hbcko b = ac wand :.'+;= NN
() ¥ @ B 22 NN y
2—
33, Iimw."l+.n:*+.an: I=
=0 X
1 0
— - 3y =D 4
@i o &Y @ o-
34. Iffm'HF1,ﬂ1EﬂthE?ﬂ.1H¢ﬂfl+I+,}n 1+m+n l+ﬂ+£'l
. I "_1___2
et 14§ +m™ 1+m+n:i L+n+!"
a 0 ‘1 -L' G) I+m+n @ bm+mn+nl
35, If (64) = =-2*«.E men3x+4r—
(15&)’ -
(64) _.+—:-.._2J-m531+4y*'
TR
W o\ @1 @ 0 @ -l
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- -b a+b—c
36. Ifl,l,laminhl’,meﬁb-kc ﬂ.cﬂl .ﬂ b ﬂmllﬁlml
abc a b c

L_l_,l i AP ol b+c—a‘c+n-b‘a+b—c
abec b c

a
(1) GP @ AP 3 H (@) Nang (35 =)

£ ==mmmm———— & AOLROD.

37. Inaninfinite GP first term is 10 and its sum is 30, then the common ratio i~ |
ool HnFS6’ s 55 10 Lo wkos Sore Mo 80 el o 35 g SorHdEn,

. 2 3 i i =
@ 3 ‘@ 3 ® 5 QO @ 3

38. Therelationamong AM, GM and HM is
AM, GM, HM o ¢ Soposde (
(1) A*=GH @ G*=AH (Y H=AG @) AGH=1

39, The 10" term of the series 3,3+~E,3+ 2&,- ------ 1'-5

3,34 2,34 2V2 , ...... 8% 108 2.

@ 3+92 @ 34027 O 3+42 @ 3-42
40. If Y n=78, thenn=

Zrl:'?E wond n = !

@ @) 13 (3) 39 @ 9
41.  Tfall the terms 6F A GP are multiplied by a constant number, then the resulting series is in

GP 6 ($smay o5 §5 Sopgd fodosm S @8

@ GB_\ @ AP (3) HP (4). AGP
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42. Theconcurrent point of the altitudes of triangle is

43,

44.

45.

SAy—-90°

Deoens'D of) Ho DRE Dothd

(1) centroid (2) incenter
rotosy Bogam woss K% Bousso

@ orthocenter @ cicumcenter /o
von So|Ssn 508 Bolgsn :

[n a triangle ABC, ZB=90°, BD LAC if AD=4 cmn, AC# D ¢m, then AB =
R — L
ABC @gusns® ZB=90°, BD LAC, AD = 4 cm, AC™Y cin'wess AB =

(1) 9em @ 6m . @ 3em @)

From the following figure the value of x is
@) S650 Dol X Devd

) 6 @ 85 y @) 85 (@)

Inacyclic quadrilalﬂﬁ;.ﬂﬂﬁ;ﬂ LACB=30°,£BDC=35" ,then LABC =
ABCD sah sétqping®’ LACB=30°, LBDC=35" ecvis LABC =

e @ 115° @)

PR AR

10cm

7.5

65°
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46. Inatriangle ABC, ZA=90°, AD LBC,if AC=10+3, Bﬂﬂ&*ﬂt‘ﬂx.thenthwnlueafxis

ABC Dehusins® £A=90°, AD LBC,AC=10v3,BD =5; DC=xmﬁxnu:.ﬁ: 5

O @ 10 ® 20 @ ,:J_i”-”’_f'

47, 1£(1,2),(~1,4) and (7, k) are collinear, then k= f_j;_:b_.
(1,2), (=1, 4) &tctv (7, —k) o $EBctrocwd kdeal

(1 1 @ -1 @ 2 ‘ 4

.__._a""\-\.,.\"\.\\.l'
" .

~ S “‘H
3E e
48.  Theslope of the line which makes =~ with the +ve duenuuan‘:c ““ixls is

: 3r : (e
X - ogEnd® 5% a4t - Cadn % S5@y T =)

1y 1 - @ -1 @ij @ 3

r Yy
L "u"".'

49. The nature of the lines 7x + Sy + 6= ﬂamiax *;;.;4-; 0 is
Tx + 5y + 6 = 0 Hbdio 5x - Ty*rﬁ”"ﬂﬁwn

(1) parallel fﬁt (2) concurrent
S¥rodore (9% ) 208 Bypeo
@ perpendicular LN (4) None
AN
-] ﬂq}m .-"r:-__:.:.-.'" -__,.:-!J hb E& [ ]
1 I“‘":.r". ll'.|.| N
¥ ::"'-_ i F
/1

50. Theequationofthe sjmgp'! line parallel to 4x + 3y + 5= 0 and passing through (1, 1) is
dx+ 3y + 5 —h‘ﬂjﬁuﬁ Hsrostsor aotwe (1, 1) Do rHoo Hdh HoY By Svsbasn =
@ 4:::+’3y\=§‘? (2) 3x-4y=7 (3) 3x+4y-5=0 4) 4x=3y-5=0
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51. The triangle formed by (-2, 2), (8,-2) and (—4,-3) is

(-2, 2), (8, —2) Sbais (4, —3) DotbHos® DS (Bebass o ,\
(1) scalene (2) isosceles %’\;\
SR #PERo. (DebuRD | SBgEr (Bghasy x\\ 5
Ay
(3) equilateral right -angled ‘"’M__B/
Haloarar | Bdbessin wonB'n |Bdhusn f,ﬁk\ ..rﬂ.,
"u-r'. '::' ....4-}

52. Thecentre ofacircleis (0, 0). If(3,2) isonecend of a dlﬂﬂﬂﬁ,m\\ﬂh}efﬂﬂdlﬂ
58 Bosssm (0, 0) KB Tydsin @) 28 OSO Hothd (3, E’Wﬁwfﬁﬁ Bothd.

)

@ 1 1
@ -3,-2) @ G- 3) (?;-V@f} @ [3 2)

N>

[FA(-1 3): B(=3. 7): C(1.~1). then 4 divides BCi ﬂm

Correct Answeris 1:1
A=, 3) B(—?: ; f‘(l ~1) wcnd BC D A ﬁg
(1) 3:2 (’Q} @ 2:1

\

54. Theequation of the line passing lhl'&]:a?(« and: subtending an ungle — with x-axis inthe +ve
directionis \K

"rJ'l
-

{l,-‘-\-.
X - 0g208® &5 088’ ?—; ﬁﬁ%@@ﬁ (-1, —3) Hoor Dk Tar HcpStndw =

AR, ~
n . 3}-34%’5}“"7; @ Bx-y=0
\
(3) 'w'ri'lr"ﬂ ﬁ{r’fmr‘j ﬁx“}'=3-ﬁ

\&
55. The Lquatmm &lihe passing through the pmnt of intersection of the lines 2x + y + 1 =0,

—r—'?/dm;né point (3,-2)is

hn#{ S 0ew -y — 7 = 0 © poss Dotss§ %0ak (3, —2) oo N Bar Ho8EwS
(1) ABrotai+ 11=0 2) 3x-p+11=0

@;ﬁ‘w-nﬂ @ 3x+y-11=0
'{,' ‘:'-.-E-:"S
—

-
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56. The angle between the lines joining the points (1,-2); (3, 2) and the linex +2y—7=01s
(1, =2); (3, 2) o 50h By H0an x + 2y — 7 = 0 Spo S SPosn = '

., -

(1) % ) % @) % -‘;

%,
' S
.

57. The area of the triangle formed by the line xcosct+ ysinct=p with the mﬂrd.-.:;m& axesis
Dérdegos® xcosa + ysink = p By D563 |Bedes Mﬁn *

2 . 2

P P
(1) sinc 2) cosa 3 sin q;:uﬁﬂ ( '._“ ‘ 251!’1&" cosa

F
l.'a.

58. The points where the line x = my + ¢ cuts x and y axes m;g %
x =my + ¢ Bp Vrdegod volod Dombipen. \"

e fon N f-::‘
@ {.::,0){0.—;) (2) ﬁn"ﬂ}‘[an

\h'.

c ~NF ¢
! | . * | W] Ly =—— ﬂiﬂ
3) [ = ﬂ](ﬂf) /@) { m}( )
$9. If sec@+tan@=L—) then m&: >
p+1
sec@+tanf= -——lr Sons Cﬂﬂﬂd
p+1 R
¢ | 2
p°+1 E =
M @ 3 +1 3) _‘E“F=-1 @)  2sech
A 1 |
6. ——t—+ T'ﬁ“’f'
l1+sinA  €osA
(1) 2cdsecA> (2) 2tanA (3) 2cotA 2sec A
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SECTION - .?}PHI):\SL =2 01 Dot 24 sepoN
The force °F” between two magnetic poles is 36N. ke distance betwiéen theitiis mplc&mcn the

force changes to ~\_/
Bot> sattdpd & e T oo (F) 36 maﬁ&{gﬂmﬁnmwgﬁﬁ:m?
() 108N (2) 12N 6 4N @),— IN
."‘-x

Fundamental unit of an electric current is (o ““xu
Dis8 1Hardro @) |SFDE Sdrwmo. s R—
(1} Joule per second (2) wvoltper secunﬂa N, 7

E B g/t NS ?
(3) farad per second m:ml-m}'fbpﬂr#m

&k Mﬁﬁaﬁﬁn

N Sy

Three bulbs of 60 W, MWMdZUerkﬂnldﬂVﬂmﬁl? émngﬂwm,ﬂwbulbhavmg higher
resistance is (V)

ﬁﬂwmwmzuw:mmmﬁmmaaagmwmw&

EDAS 2 .,.-' “'a -Kx "

(1) 60W ~ (g) 40W
60 W A :i"“"?“- a0 W
20W 2 g “X4) Three bulbs have equal resistance
20W fxﬁ fontly mege A6'oren BRSO

(Yn )
The resistance of amndur:tuns L }
&8 TvirEo Gof) A%Fo -a:ﬁm N/

(1) directly pmpurnnml }tihs'amauf cross - section
S W pRdiEes PEcs actnod.

@ inversely pmpc-nm)al to its-area of cross - section

S W 2685 808® aotnod.
(3) d:mugprapmunnal to square of its area of cross - section

Do Ao SOU8 eI Ecs® actuod.
(4) inversely proportional to square of its area of cross - section

AR peegts @ng SR8 DE'ErGIEest sotmob.
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65. Which radio isotope is used to detect a clot in the blood of a human body?
S $0tod® 5o KY B4 aF el RBodolhd addrii Biar abe’H

@) iiNa @ 3Co @ @ s

66. The mass defect for He nucleus is 0.03 a.m.u. Its binding energy is
Srbabo Boigo @ng) Eore 5o 0.03 am.u, oo woss 48, .
27.95MeV  (2) 2795 MeV (3) 13.97 MeV 4) 311 MeV

67. Which among the following has no forbidden energy gap?
8o 8E* A 38 34 wosto 800

(1) Germanium (2) Silicbn
o Rahe % 3
@ Silver (@) Woad
rend o5

68. On increasing the temperature, the specific resistance of a semiconductor
A2EE LEA T8 o8 ofrirto @nY DEG JEE

(1}  Increases . decreases
BEHE08 \ T st

(3) remainssame ' (4) firstincreases and then decreases
CULES Snoth WOR, SO BifS0b.

6% Whichamong the following i§amaghine level language?
%08 =86 DB COSPED T,

(1) BASIC \ (2) FORTRAN
g HS

@ ASSEMBLER (4) COBOL
whopk E'erd

70.  Frequendyofascconds pendulum is
WEBPUSSE - Ty DD,
0§ 0.1 Hz @ 0.5Hz (3) 1Hz 4) 2Hz
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73.

74.

1.

76.
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The relative permability of vacuum is

(1) Zero @ 1 L : r
K%y 258 : Z4)

(3) 4mx107 H/m (4) 107"H/m (D
47 x 1073nd / & 107 wh /&

For constructive superposition, the phase difference betwen the two wava&{:i‘ H~==’£] 1,2,3,.)will
be

B ﬁ:m‘aﬁaﬂnu ubrrool, Both #Somre iy aoh Hevoddo (‘H Q& 1 2 3 wond)
(1) 1 (2) all ® A 7@ 2mm

L
., .\..\'\'\.

The work done in moving 0.5 C of charge to a pointis 2 |, Thf: bl;unc potential at that point is
0.5 C adymrded) b Dot S5 ﬁ&m@m:&nljhﬁmﬁu Dothh $§ gl SDYES

(1) 025V 2 1V (3) zrsv 4v
The reason for the stability of the nucleus is L :‘.H __“'
Bolis8 JBoR8 B0 Y x
(1) presence of excess protons £, (31 presence of excess electrons
o0 SrSes Gofb ‘“w. _#68 dugder ot
(3) size of protons and electrons /™ f “ mass defect
Sery Hdok Jeigie mﬂﬁmﬂ :z.;' ' &S5t So

[n a screw gauge, the screw tmwls Lhm’ugh 2 mm in4 rotations, The pitch of the screw is
o8 Hfiadt fo 6 il,mmxgﬂndib. tirbo |Hardiod. ©JH o HE PherodSSo.
(1) 8mm {""‘1 me : (3) 1mm @) 0.5mm

& u.dv, ",{;.;,‘.‘- N 2 b 1 .5, 0.5 .&o. v,

Mt |
The radius of a J}lanehsr ~— th of that of the earth and acceleration due to gravity is half that of the
earth. The m;;a nf’ mass of the planet to tl:mt'nf ﬂ'll.: earth is

o
a.ﬁlﬁ;&-qm;;raauganapa-;&goﬂ‘ “'55115:#:&: HLon © Ko B N SBno &
ﬁﬁ:%ﬁn&é‘éﬁnﬂ:ﬁrﬂo& umummmmuwmnnﬂ

@ \ 132 () 32:1550.0) 1:8 (4) 8:1

\
Y

I
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77. The law which helps in the determination of the weight of an object is
(B0 & HobHiin o8 HibH dng) o Apbodtod® Sifdh HHEHoB.

(1) Kepler'slaws (2) Pascal’slaw
856 Dansmes >G5 Hobio

@ Hooke’s law (4) Boyle'slaw
ol Dabihe rond Jahio

78.  Abody is thrown vertically up from the ground witha velocity of 9.8 m*a."i*ht.t time for which the
body remains in air is

o8 SLH0 e wold ssmm%mgﬁmaﬂm& ue.mue‘anmauﬁu-m
1 1s @ 28 3) 9485 4) 1965
1% 2 .9."3:‘3;1 19.6 o

79. A bodyisallowed to fall freely from a hegith of 49[} m abﬂw: the gunmi The time taken to reach

the ground 1s
ﬁa&ﬂa@%%ﬂﬂhaﬁ:ﬁ“iﬁ@mmﬁm 08 i Ebob diy Sibdbo.
@ 10s @) 208 MY 505 @ 100s

10 7. 20 B SN ; o0 . 100 =

80. A bucket full of water is whirled ma?ﬂuﬂi circle. The water does not come out from the bucket.
This is due Lo
Doore HAD EDA &) a8 mﬁﬁm ;saq;s-ﬁ Irgod® Do @NTH. soHs'd A% Bods 58
SFSCERE oo
(1) Weight nfwaterls.ﬂq_ual ml:ﬂ]mpda! force
58 grésn Hbo sy ven S THo.
@ Weight of watu;:ri.séqtﬁt! to centrifugal force
8 erdsm Sbaly sSEosoosin Simic s@ko,
(3) Weight of waterisless than centripetal torce
N8 roin shioll noo Eom S5 sSto.
(4) Weightatwater is less than centrifugal torce
M- arodny estol voo Bon S sbo.
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84.
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A body is moving with a velocity of 10 m/s in a circular path of radius of 0.2 m, Its centripetal
acceleration is
o8 $0H 10 /o $o8® 0.2 b agdho Ko Het Brgod® Kksod® aold. ﬂuﬂn{_ﬁi@ﬁnﬁm

(1) 20m/s? 2y 50m/é?
20 Iofy? 50 B/t

3) 250 m/s 500 my/s?
250 &ofa’

500 fn/nt

The time period of a simple pendulum is
ef vindofo dnY) e34S oy, o
(1) independenet ofits length
PPEH D UPEIES
(2) directly proportional to its length
PrDHD wbstErdh Srod® actvod
directly proportional to square root of iis length
FEH Do) HPredl eddtErhidrdos® aotof

(4) inversely proportional Lo its length
PESD D6 Erh dod dotuob.

The resistance of a 500 m long mpper wire.of radius | mm and specific resistance
3.14 x 10°Q-m s

500 & e, 1 .o a-a.ﬁ-gommm 314=-= Iﬂ“ﬂ:u- 285 etEsn E0A & of 58 &K
A58,

) 1.7Q 2 3.14Q fj @ 5Q @ 85Q

The device which converts mechianical €nergy into electrical energy is
Bob 84 airops 48D a-:sgsgm Sy PESED

(1)  transformer @ d:,"narm
(S ’
(3) electricmotor . (4) m]u"mﬂ:ﬁ'
DS Trerdh 86 Hod
The rays whichare used to take photographs of an object in darkness are
head of S aog Pefed Babl asErsl Sbmmen
(1) visiblérays (2) X-rays
ByiLo0\srod Smred X - B8oren
@ inftaced rays 4) microwaves
PANSohe A8mren DE* Sdomen
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A medium transmits a sound wave through it by virtue of its
e ErSEso 835 o $iY SSorred BASeS Hamdod Uow.

(1) density @ elasticity and inertia
oS8 ROPSES LB widyin
(3) elasticity only (4) inertiaonly
20 FHEE HMED etfdyso SrmED

If 10 cm and 30 cm are the first and second resonating lengths occurred in‘a resonance experiment,
then the wavelength of the sound wave is
v diohod B@ErKes I Hbdm Bodd eHTrrer SHB 10 hodb Hban 30 Ro.db.
5% D583, © 50 s B - |

40cm (2) 20cm (3) 10cm (4) 300cm

40 Mo.d. 20 wo.in. 10 %adh, 300 %o.&,

A three - dimensional photography in which lasers are employéd is
Baib SBeroiy 43@PR0T of HEE BB PEird

(1) radiography (). holography
daar|rd ST

(3)  spectrography {4) ", photometry
dgaiodnd sroBdnd

Which among the following phenomenon reveals the transverse nature of light?
B0t & wod dwE) BGE SBor Ny BDabIah HHigHobEn

(1) Reflection (2) Interference
SovEgso H5BESHO
(3) Diffraction : Polarization
DHLEHo \ &ySmo

Two points 4 and Bare on the equatorial line of a short bar magnet at distances *d” and 34"
respectively from itscentre, The ratio of magnetic inductions atAto B is

A fobdis F ¢%'\Bod Dothien a8 ﬂ‘g Sotrdhmodo g Zofo Sol S%Hmr ‘d Sbdw ‘34 "
grsos® Shd vondpp emmon. widt A Wbdk B 3§ ewhded (Riwe I8

(1) /139 @ 9:1 3) 1:27 271
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SECTION-1I1: C HIZI?TJSTRY
91. Which ofthe following is the wn:akelectml}'te?

Bob A& pobe Digh DS,
(1) NaCl | {2) KCl
@) cH,Cco0H (4) NaOH

92. The number of moles of H,O present in 108 grams of water is
108 rswe D& Ao 08 dwg Arde Hong

m 3 @ 4 @ 5 6

93. Which one of the following is a basic oxide?
B0 ast 38 uBE
(1) €o, @ N0, @0 4) PO,
94, Which one ofithe following is weak acid?
Gua 05 ool wlpsio
@ cH,coon (2) H,S0,
@) HCl (4) HNO,

95. One mole of HCI solqt}nnmign:utra]izéd with one mole of NaOH solution. Then the heat of
neutralization of thigteastionink cal /mole is

2& 38 HCl 8 ar8 NaOH & 86588005 $5656* Dibisert sofjgsn afim 86° sobb [ ards’
@ 13.7, @ 187 @) 157 @ 134

LI B

 otla |
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The shape in which carbon atoms are arranged in diamond is
Smsne® b wddHod D

(1)  square planar @ tetrahedral
StdE Sdwo Sdtphavo
(3) trigonalplaner (4)  linear
Betdah IHdwo dbaso
Al C, on hydrolysis gives
AL C, % soddsm Snss* ————- Do
(@) methane | @) ethatie
&S &GS
(3) ethylene (4) wcetylenc
=508 ahebS

Carbon can form a large number of compounds becauses of
Sys ®BE Songs® Sod@m Sovpeid JGHIHGLH, ebeio

(1) catenation - (2) isomerism
Bl S =L
(3) formation of multiple bonds All
pivmogred Al : Ry
The formula of chloroform s
£65'>rS Fdper . .
(1) CHCI @) 1 CH,CL @) cHel, )
Alkenes andalky'nesane
whbw, sy w:HHD
(1) isobars @ unsaturated hydrocarbons
oS Ben whods ?lﬁ‘m
(3) " saturated hydrocarbons (4) None
Sodys =GR B e

CCl,
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101. Thered precipitate formed when glucose is treated with Benedict solution is
Kl BRAE Erdedin®d S0DSQYS S5 B8 wShssy.
(1) Cu 2) Cu0 @ Cu,0 (4) CusQ,

102, Enzyme that breaks down sucrose to glucose and fructose is
gt dps'E Dbk FES JEFE 208D

@ invertase (2) maltase
afsheE Sl

(3) 2zymase (4) diastase
gdd BoirgeE

103. The amino acids which cannot be synthesized in the body but must be supplied through diet are
#bhtot® Sxrd FHEEN Do pBorr wios® Iy BIEHuHS DS wiEo

@ essential amion acids 2)nan-essential amino acids
s54E oS wiho wrSEE oD edo
(3) acidicaminoacids (4) ", Basic amino acids
o BT 8o 26 B uifo

104. The formulaof glycerol is

ﬂaﬂnﬁﬁ ﬂ‘ﬁ:&ﬂ'
(1) CH,COOH (2) COOH - COOH
@ CH,OH - CHOH - CH_,DH (4) CH,OH-CH,OH

105. 'The glas blowing is possiblewith

R ool obXs | —w=-- & It

(1) sodaglass @ borosilicate
e rres 66 HOBo rres

(3) quartzglass (4)  hard glass
Sebdi Mpar K8 rees,
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106. Bohr's theory is not applicable to
6 $odrem Sled 308 S80S,

(1) H 2) He (3) L ‘ per

107. Inanatom when electron jumps from X shell to L shell
Sesreos® Jogre K € Sod L 65s'os sness®

@ energy is absorbed (2) energy is emitted !
ABD [fitroiHd 4 q-gﬁ;ﬁﬁ

(3) nochange in energy (4) depefids ohatom
#B6° Sty Hotich SERDS R TR

108. [mpossible set of quantum numbers for any electron pfanatom is
SEEPPE'D O el DO ol BHY Sroto Mome SHweEED.

1 rr—EI—lm—Ds-+l H_EI_ZHI_—IJ-*-'-I

(1) A=lm=0,5=+ . I=2m=-ls=~-

(3) n=3,f=2,m=+l..1'=+% = @ n=3.f=l}.m=ﬂ.s=-%

109. The atomic number of elementwith minimum number of ﬁnpaired electrons is

2oLl Jembed efoHons :}'Eﬂ Buroll Hharoe Soyg .
(1 22 @y pd @) 26 29

110. The number of electrons transferred during the formation of MgO is
MgO 28:855% abd vdy doigy Soxg -

DY @2 3) 3 @ 4
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111. Which types of bond presentin H,O*?
H,0" & %08 oof S
(1) Ionic
epctimilE
(2) Covalent
HSo@Bradal
@ Covalent and coordinate covalent
Si@radad Hodh Sddked SHd@raddd
(4) lonic and covalent
waird¥ Hedo Shdrsidh

112. Which one of the following is nonlinear?

Bhairg)d 80 e _
1) co, @) uo (@) HCN @  BeF,

113. Ecaaluminium is known as
o uamg:h::u:ﬁm 2 e )

(1) scandium ﬁum

Amoldio _ moabo
(3) genmanium {4)-. boron
Fhaho ; _ oS

114, The element with atomic number 11belongsto
11 S5smm Sogy Ko Mmebin + va--d- S5 JobBs.

(1)  3rd group, I period (2) 2nd group, Il period
3rd %, 11 800l - 2nd \frsp, 11 H805E
1st group, III period ; (4) 2nd group, III period
st rirs, 111 $B09E 2nd pirsp, 111 868

115. Ionization potential in4 group from top to bottom
a8 (D ©ohl8e o P Wold Bolh SN

(1) increases (2) remains same
'Eqﬁifhﬁl Bore o

(3} initjally decreases and then increases decreases
Tty B8R S0H6 DHHD S
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116. The order of electronegativity values of C, O, F is

C, O, F o @8 eondigerd Ein .
() ¢>0>F (2 C>O0<F @) C=0=F ‘ C<Q<F

117. Which one of the following is not alkaline earth metal?
ol >RE* FSnBE SSEn R,

(1) Sr @ Ca G) Ba N " Ge

118. The electrdiic configuration of Ca*" ion is
Ca™ sdiri @nf) Jogd daghse. k
@ IHIEQIEF*SS’EP‘“ (2) 162252pf3s73ptds?
(3) Is'2s2p® (4) '.153234-ip*3313p“45‘

119. Magnesium bums inair to give

Shpabo mOe* Hol —--m-m- o payEaty /

(1) OnlyMgO o9 @ OnlyMgN,
#500 MgO ' &eo MgN,

(3) Only MgSO, / | MgO and Mg,N,
#5060 MgSO, ' MgO ssecis Mg,N,

120. 100 ml of wateris added 1o 100 m! of 0.1 M NaOH solution. The molarity of diluted solution is
100 2Hbe:8 Bl MINaOH snsnd® 100 hboy Had sobsgysd d5@ 208 se Inesd.
1) OIS @ 025M @ 0.05 M @) 02M
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